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N = 0l & At & Ml A
20144 E £ 15 s AF ~ AF
o2 2l SN EYTE S
HE: AQIGIE PH2Y
el BEUIE PF2Y N CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
2223 521 8,067,019 17,850,082 216,937
2 85,862 85,862 0
= 117,000 117,000 0
Al 17,864,157 17,647,220 216,937
NBIBE REeY 1,583,503 1,367,837 215,756
= 117,000 117,000 0
Al 1,466,593 1,250,837 215,756
gagis 7YY N 209,274 203,234 6,040
AEHN BYMHA 2T 76,828 73,828 3,000
201 Y2 bl 3,880 880 3,000
01 AR 22l 3,880 880 3,000
OYHBIY £IB2 I 2
10,0008 * 300% 3,000 0 3,000
AT YA 2T L XA(E) 44,884 41,844 3,040
307 212+0| & 6,040 3,000 3,040
05 229 Er3 6,040 3,000 3,040
Ol ECTE LUAHAAY SIS
380,008 * 8% 3,040 0 3,040
W BABY T4 628,466 486,976 141,490
MEE A SN2 (M) 367,524 360,974 6,550
206 TH 2 bl 19,710 13,710 6,000
01 2 bl 19,710 13,710 6,000
OBAMBE HABE 6,000 0 6,000
OB2S23EX 10,0002 * 105 * 6% 6,000 0 6,000
405 THaHE St 1,100 550 550
01 T 2B St 1,100 550 550
O2R+RY HASE 550 0 550
oWz 250,002 * 1CH 250 0 250
OFE X2 oI K| 150,0002 * 1Ck 150 0 150
o= 150,0002 * 1k 150 0 150
WRE A RXBE(E) 134,940 0 134,940
201 2Bt | 122,740 0 122,740
01 At 22l H] 13,840 0 13,840
OYRHE 4+ 42 13,840 0 13,840
OFEJIgtE e 620,008 * 72 4,340 0 4,340
Owstzalte 500,008 * 72 3,500 0 3,500
OBSZHA 13,0008 * 150 * 13l 1,950 0 1,950
SEEEE-PS 15,0008 * 100 * 13l 1,500 0 1,500
O+ZAAML2R 140,0002 * 1l 140 0 140
OSAIJHAOHE 2 ALY 350,0008 * 13| 350 0 350




o2 ol SN 2EE 520
BE: AOE PYRY
Sl XS HAHY X4 EEREED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
Oagotdatel WS 200,000& * 13l 200 0 200
OsZolgtd el Xt W=sHdl 40,0008 + 138 40 0 40
OJtAotdE 2te| It W= 40,000& = 13 40 0 40
OFMNESE==Z 60 » 5,000m = 32 900 0 900
OsdJIEE+==+= 220,0008 = 104 42 880 0 880
02 32224l 108,900 0 108,900
OFAZe B23R= 108,900 0 108,900
o&IIe3 10,000,000& = 6& 60,000 0 60,000
Otre=s 5,000,000& * 6& 30,000 0 30,000
Oddt=a= 1,500,000& = 6& 9,000 0 9,000
Og3Nd=E= 4,000,000& = 12 4,000 0 4,000
Ousse=RE=s 5,000,000& =+ 13l 5,000 0 5,000
OFSIIRUFSE=Reil] 150,000& * 29 300 0 300
OA Yot S 3| 200,000& * 22 400 0 400
OZAItAHESEE =S 200,000& * 13l 200 0 200
206 M= Hl 12,200 0 12,200
01 MHZ 4l 12,200 12,200
OF A2 E&7Y 12,200 0 12,200
OHASETY (AN ATE)
150,000& * 85 = 63 7,200 0 7,200
OFIMUA ST P (L2 195)
100,000& * 203 2,000 0 2,000
ONdgasel ANLRUHTY
100,000& = 303 3,000 0 3,000
23 Jgtxd ¥ 28 N 573,981 520,755 53,226
£ 52,000 52,000 0
SN HHHES 2H(M) 131,329 113,329 18,000
405 Xt&tE SHI 62,000 44,000 18,000
01 AL ESH SH 62,000 44,000 18,000
OS=2dH HIHAREH wH 18,000 0 18,000
OsgaaLsIl 9,000,000& * 2CH 18,000 0 18,000
FEEA ozt 2H(M) 182,510 152,378 30,132
201 L4l 165,010 150,178 14,832
02 =224l 164,130 149,298 14,832
OsSAHEZH AIESZ 87,060 83,628 3,432
OFEsSHSeY AIER 60,900 57,468 3,432
-7 o Al 1,230,000& * 18l& = 10 12,300 12,000 300
-7 e S 540,000& = 92/4& = 108 48,600 45,468 3,132
ONFLS HEIM MEE
500,000& = 12/& = 108 5,000 0 5,000
OB TS MER
4,000& * 1,0002/& = 108 40,000 33,600 6,400




o2 9 SN 2EE 520
BE: AE PY2Y
Sl HEs JUES o 28 X EEREED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
401 AIEBI L 2CHEI 16,800 1,500 15,300
01 A& HI 16,800 1,500 15,300
OSEN ME FUSHE=Z HHI 15,300 0 15,300
OFU sS4z E 10,800,000& 10,800 0 10,800
OsSF0HE Sed2 FH| 4,500,000 4,500 0 4,500
FESH oZet H(E) 142 177 137,083 5,094
201 fEt2E | 137,277 134,883 2,394
02 332gl 136,397 134,003 2,394
OSHHEESIH MNEZ 77,250 77,856 A 606
OZEZSHUSEL MEZ 51,810 52,416 A 606
-7 o Al 1,230,000& = 13/d « 78 8,610 12,000 A 3,390
-7 e S 540,000& = 8=2l& = 108 43,200 40,416 2,784
ONBYE B3 M MEE
500,000& = 12/& = 63 3,000 0 3,000
401 AIEHIZ 2 HYI 4,200 1,500 2,700
01 A& HI 4,200 1,500 2,700
OSEN ME FUSHE=Z FHHI 2,700 0 2,700
Osx2dH sS4d2 & 2,700,000& 2,700 0 2,700
ZHe 23HE 29 129,852 114,852 15,000
£ 65,000 65,000 0
HEAE 2el(E) 34,826 19,826 15,000
401 AIEBIZ S CHYI 34,250 19,250 15,000
01 A€ HI 34,250 19,250 15,000
OMME 116-28K HSAL Hx
15,000,000& * 14 15,000 0 15,000
Heas(sg1s s21) 1,181 0 1,181
BEIN= 1,181 0 1,181
gret=s JIEt 1,181 0 1,181
802 gtet=JIEt 1,181 0 1,181
02 Al - EHIEXZtEte= 1,181 0 1,181
OOIAMEAIE &X 1,180,770& 1,181 0 1,181




= A
N = 0 &8 AFH Y & A AN
20149 & =& 1 3 LugA AF ~ 2AH
Jjz: o fAH: EEPE UASALL
Mo DM SO pEN 2Y
CHolr ARG FEE EBHSE 29 (el &e)
A= -2 -3 - AA(3H) - NEAMY - BES 0] AFoH Iy H HnE2
ECH QIAS A 230,665 216,123 14,542
=2 64,792 64,792 0
Al 165,873 151,331 14,542
DW A= DIfs 2 79,047 74,887 4,160
=2 64,792 64,792 0
Al 14,255 10,095 4,160
A=5D HEts IIERHEE 29 43,023 38,863 4,160
= 38,863 38,863 0
Al 4,160 0 4,160
NEBAHSEAMR XA (E) 28,470 26,390 2,080
=2 26,390 26,390 0
Al 2,080 0 2,080
201 LBt 12,152 10,072 2,080
=2 10,072 10,072 0
Al 2,080 0 2,080
01 AF2 22| H 12,152 10,072 2,080
OMAS TX R 16,0002 * 130 2,080 0 2,080
NEBAHSEMR NE AL (M) 14,553 12,473 2,080
=2 12,473 12,473 0
Al 2,080 0 2,080
201 LBt 12,153 10,073 2,080
=2 10,073 10,073 0
Al 2,080 0 2,080
01 AL 22| H 12,153 10,073 2,080
ONEE EX M= 16,0008 * 130 2,080 0 2,080
Hets (BN p= 89,960 79,926 10,034
Hats £EX HE M2 QF Jlg 2= 23,680 13,646 10,034
NE=2 AR2FX(5) 15,057 5,023 10,034
101 Q1A H 5,674 1,420 4,254
04 JIZtRI2ZE2XNEES 5,674 1,420 4,254
OSESUH K=z 28 5,674 1,420 4,254
oeley 42,7902 * 2% * 0L 5,135 1,284 3,851
ongesz g3
2,568,0002 * 2% * 1.5% 78 20 58
O=ola=eaza 2568,0002 * 2% x 4.5% 232 58 174
CELIEETEEI=E
2,568,0002 * 2 * 2.945% 152 38 114
OIRRLYBEEL S
76,0009 * 2% * 6.55% 10 3 7
Ot BEAESE S
2,568,0002 * 22 * 1.3% 67 17 50
201 Yty 9,383 3,603 5,780
01 AL 22l H 9,383 3,603 5,780
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= A
N = 0 &8 AFH Y & A AN
20148 = 1 3 UBHE|H A ~ AH
ol ol SN E2HIE Fo=X Y
Mo FHANE Y BU=X BN
SHell MOIX L Rl 2 (el @e)
A= -2 -3 - AA(3H) - NEAMY - BES 0] AFoH Iy H HnE2
ECy =0y 9,442,005 9,366,547 75,458
7l 80,000 80,000 0
Al 9,362,005 9,286,547 75,458
FHoHE L HoH=2X B 75,290 73,690 1,600
BHOI Xt 2 2ol 2y 9,200 7,600 1,600
HOIALZL X L 220 22l (M) 5,400 3,800 1,600
307 gl2t0l & 5,400 3,800 1,600
01 922 5,400 3,800 1,600
OO AP Xt DHEHI(3HE) 1,000,000 * 37 3,000 2,000 1,000
OO A Hotal otxly|
60,0008 * 37 * 10 1,800 1,200 600
HUGD BIFE LEME BE 2,307,170 2,243,170 64,000
J| 80,000 80,000 0
Al 2,227,170 2,163,170 64,000
L Ol SOrE 1,564,200 1,549,800 14,400
s 2g XA(E) 22,200 15,000 7,200
301 Yt A 22,200 15,000 7,200
01 A3 B & X 25 2 22,200 15,000 7,200
CF-1=N= 50,0008 * 379 = 12 22,200 15,000 7,200
ST4Y XA(M) 22,200 15,000 7,200
301 Yt A2 22,200 15,000 7,200
01 AFEIE & E 5 2 22,200 15,000 7,200
Ol 50,0009 * 379 = 12 22,200 15,000 7,200
A2e29 2435 393,618 355,918 37,700
B2 MIAA L H2(E) 349,359 311,659 37,700
402 DIZF K201 & 236,400 204,100 32,300
01 pI2REEx 236,400 204,100 32,300
od=RY 236,400 204, 100 32,300
O=ti1s sgtixted =< ot 2L X
1,980,000& * 1CH 1,980 0 1,980
O=2ii1s gXx2xed 2 ot0)| 2L XA
1,980,000 * 1CH 1,980 0 1,980
O=2l2s g4eEZY o0t 2LXA
1,980,000& * 1CH 1,980 0 1,980
O=2U2s 23 =Y o0t XA
1,980,000 * 1CH 1,980 0 1,980
O=l2s Naedz4 oo XA
1,980,000& * 1CH 1,980 0 1,980
ORHE SEFZIGNI2Y A2 29X
2l 300,0002 * 1CH 300 0 300
ORHE SYFZIUNI2Y 40 2N
1,000,000 * 2CH 2,000 0 2,000
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=M
NE CeME 2T
243
CHB - BRAEA) - NRANY - BES 0l &k o4 p/E-T
OFEs =2Exz60022g 08 F9Ad
1,000,008 * 1CH 1,000
OSEBE 2EFZ6CNZ2E AXYEHD 2
o Xl & 1,200,002 * 1CH 1,200
OSEBE 2EFI5LNZ2E AT 2N
1,000,0008 * 1CH 1,000
OSEBE 2HFI5SNZ2L 02 2K
2 2,000,0008 * 1k 2,000
OSEBE 2HFTFLNZ2Y 2K 2
e 300,0002 * 1CH 300 300
OSEE 2EFIFONZ2Y FIolgas
2% & 300,002 * 1CH 300 300
OSBE x2032% 8+) 2N
2,100,008 * 1k 2,100 2,100
OSBE F20A2Y VXAX PN
300,0008 * 1CH 300 300
OSHES UEF2Y wED AT
1,500,002 * 1CH 1,500 1,500
OHEE HHA2L 0012 2T
2,000,008 * 1k 2,000 2,000
OSEBE 2HFTUSGNZ2L 0 2K
2 2,000,0008 * 2Ck 4,000 4,000
OUEE HB2AALOZRY HRYUX 2
e 600,002 * 1CH 600
ONYE SE1IXOZ2L 20D TYXR
2,000,008 * 14 2,000
OHBIE HEFTACHNNZRY FIlgRsa(
) P& 300,002 * 1CH 300
OH3lE HaFT20NZRY FIlgas
) P& 300,002 * 2C 600
OH3IE H8FT2ONZ2E MY PUX
300,0008 * 1JH 300
Od3lE H8F220XZ2L oK PLX
300,002 * 1JH 300
OH3IE ST ZREY FIlgea(
) P& 300,002 * 1CH 0 300
ONEBSE HRAGDIEZ2Y FIgaigz
o x| & 300,002 * 1CH 300 0
OJBS HL+ZOZ2Y TV RYX &
1,000,0002 * 1CH 1,000 0
OJAS HRVEILOZRY ToferF) 7Y
e ,500,00020 * 1CH 1,500 0
OJAS eBBNAERZY HLYHY 2K
2 1,500,00020 * 1CH 1,500 0
OZLNIS 2YUYZY LI PN
2,000,008 * 1k 2,000 0
OIS HAZ2Y AHDIAX PN
2,000,008 * 1k 2,000 0
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£ 2 os=x 5
ZESAE Js2Y EERED
SH - BA(EH) - NRAY - BYS 0l &F 24 o1& o Hl DS 2
405 XHoHF S HI 4,000 0 4,000
01 AL ESFH S 4,000 0 4,000
O HLE | 2,000,000& * 2CH 4,000 0 4,000
S(&49+3 U=AH) 5,858 0 5,858
A= 5,858 0 5,858
= JIE 5,858 0 5,858
802 BtEt= DI EF 5,858 0 5,858
02 Al - EHIEXZSEHEZ 5,858 0 5,858
OZI2Y HAZ EXAMY 3,742,000 3,742 0 3,742
OZBZIMES AlEH| 2,116,000 2,116 0 2,116
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A & 0l & AF 2 E A A
20144 E A 13 AWEN A ~ 2AF
o2 9l SN EERY AN
HE: HYSYAH (S BYAND)

Sel: o2y (B9 ®R)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
EUTE BYAND 7,112,525 7,140,894 £.28,369
HZ2YAH(SHR BAAXD) 6,105,776 6,264,684 158,908

ol 2yl 6,044,738 6,203,646 158,908
o121 4| 6,044,738 6,203,646 158,908
101 01248 6,044,738 6,208,646 158,908

03 RIHA2ZRES 6,044,738 6,203,646 158,908
oz ALY 5,970,798 6,129,706 158,908
oJez 1,656,602 * 1178 * 122 2,325,670 2,464,813 £139,143
o402 1,328, 183 1,347,948 £19,765
Dl sy
1,976,460 * 50% * 43 * 119% 470,398 490, 163 £19,765
%D WRE OECIE TABZE T4 980,039 855, 170 124,869
RQUE S EOl B E 79,343 73,004 6,339
BANLRSS RIH(E) 45,140 42,532 2,608
101 01248 20,300 7,912 2,388
YSIE EEP TP 20,300 17,912 2,388
OBINLRLS LAAGARY 20,300 17,912 2,388
OAMEZSZA 46,4608 * 82 » 252 » 23 18,584 16,261 2,323
ODBBHELYS 19,746,008 + 1.5% 297 262 35
OULTHHSABEE 19,746,008 * 1.3% 257 227 30
201 Yyt | 24,840 24,620 220
01 AbR 22t 580 360 220
OBAMHLELS S HE
7020  3,00004 * 23l 420 280 140
OBIMHRLYD NLEIAB 228
10,0008 * 162 160 80 80
BANLRSI 2D(M) 34,203 30,472 3,731
101 Q1248 21,493 17,912 3,581
04 JIAHIRRSE S 21,493 7,912 3,581
OBIMHRLS LAAHI=Y 21,493 7,912 3,581
OBH+ANBSEM
46,4602 * 1% * 252 » 23] 2,323 1,162 1,161
ONESEA 46,4602 » 8 * 252 23] 18,584 16,261 2,323
ODERHRLYS  20,907,0008 * 1.5% 314 262 52
OUTHH R E 2 20,907,008 * 1.3% 272 227 45
201 YBt2 | 12,710 12,560 150
01 AtR22lH] 580 430 150
OBINLRSLI S N
7020 * 3,00004 * 23l 420 350 70
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o2 9l SN EETE AN
HE: oD RS OIS0 TN T4
Sl BFALS e 2P (B9 ®R)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
PEEEEEREICED)
20,0002 * 12942 240 300 AB0
206 T &t 6,000 7,500 A 1,500
01 M2 bl 6,000 7,500 A1,500
OZRUSHITA 223 500,000 * 127§ 4 6,000 7,500 A 1,500
24 - HIAL SRBE(H) 13,060 1,060 12,000
405 TH&HF St 12,000 0 12,000
01 AU 2 B3 St 12,000 0 12,000
OMOABI AL HAGYS NES2EI| 2
o 12,000,0002 * 1CH 12,000 0 12,000
ZE - LUNBA FBBL(N) 9,360 7,800 1,560
201 Lot | 360 300 60
01 At 2 el bl 360 300 60
ogesHA EXB(REHY)
20,0002 * 187H 4 360 300 60
206 T & 9,000 7,500 1,500
01 M2 bl 9,000 7,500 1,500
ogUSHIA 22F 500,000 * 1874 4 9,000 7,500 1,500
ML AF B4 26,710 21,040 5,670
ML NEH 21,710 16,040 5,670
ML NEHA(Z) 8,567 8,243 324
201 Lyt HH| 1,110 786 324
01 AL 2 el 1,110 786 324
oMot A BEHE 2l 810,000% 810 486 324
SlMeis NEHZ(M) 13,143 7,797 5,346
206 T2 | 1,537 891 646
01 2 bl 1,537 891 646
OEATP ZHIIE I 7L
45,5008 * 38t A 1,337 891 446
ORANE EIE Ity 10,0002 * 204 200 0 200
405 TH&HH St 4,700 0 4,700
01 R Y SESH S 4,700 0 4,700
ONEZEANE H0IH Hel SFI|
400,0002 * 1CH 400 0 400
OXH(ZH)HE 228 YD
800,0002 * 1CH 800 0 800
OESAPT =H3J|E &8l  3,000,0008 * 104 3,000 0 3,000
OAMAA T&S StH2t 500,000 * 1CH 500 0 500




N = 0l & At & Ml A

20144 E A 13 AWEN A ~ 2AF
o2 2l SN EEHTY ALY
o WHSAPU(SYT ALY
Sl ol ) CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
£y A8 10,356,354 9,849,837 506,517
2 57,000 57,000 0
= 1,087,600 997,600 40,000
Al 9,261,754 8,795,237 466,517
HH2AYH(SHR AL 499,460 349, 460 150,000
ol 2yl 433,482 283,482 150,000
o121 (&) 433,482 283,482 150,000
101 21248l 433,482 283,482 150,000
03 RIHA2ZR 24 433,482 283,482 150,000
gx3 150,000,0008 * 1% 150,000 0 150,000
NS RELHAS TADIPE A 5,790,519 5,704,869 85,650
< 1,037,600 997,600 40,000
Al 4,752,919 4,707,269 45,650
Tz 5,274,971 5,189,321 85,650
= 1,087,600 997,600 40,000
DPANES L 52 RNELL(E) 900,349 860,349 40,000
401 NEHIL 2 THYI 842,929 802,929 40,000
01 Al& bl 838,000 798,000 40,000
o523 40,000 0 40,000
OMTE 39-3 012 2H2 FHIZAH(L=110m, B=
3.0n) 40,000,0008 * 14} 40,000 0 40,000
NEREN=TE)) 848,379 808,379 40,000
= 735,100 695, 100 40,000
Al 113,279 113,279 0
401 NEHIL 2 THYI 848,379 808,379 40,000
= 735,100 695, 100 40,000
Al 113,279 113,279 0
01 Al&t bl 842,600 802,600 40,000
OATRR ZBAE N A 40,000 0 40,000
OTMIS TREETAH(L=30M)
40,000,0008 * 14 40,000 0 40,000
= 40,000 0 40,000
SEHH L RNEL(M) 942,686 937,086 5,650
201 ot | 24,110 20,260 3,850
01 AbR 22t 14,392 10,542 3,850
osNT2IY 3,850 0 3,850
OEST® 130l = 50,0008 * 724 3,850 0 3,850
405 Tk &H3 St 1,800 0 1,800
01 T 2B S 1,800 0 1,800
OE2E4+8 25 1,800 0 1,800
CEIEE L] 400,002 * 14 400 0 400




Jl &
= ZH -
(=R B

el

A= 24 - - A(SH) - HRAY - BES Off 4+ oH |y Hns2
| | | ODL A= 1,400,0002 * 174 1,400 0 1,400
et - Moo Mzs 2 366,878 321,046 45,832
THEE - THOH Of AR 76,658 71,258 5,400
e 2 THoh el (&) 59,122 56,722 2,400
201 LBt2 A 10,874 8,474 2,400
02 2Z22H| 9,476 7,076 2,400
O Ao CH = J | 4 & 9,476 7,076 2,400
OM&EE Dejarm|2e 6,400,0002 6,400 4,000 2,400
THEE 2 Tl Zel (M) 17,536 14,536 3,000
201 LBt2 A 11,742 8,742 3,000
02 2229t 10,344 7,344 3,000
O CH 2 & Y| 4 & 10,344 7,344 3,000
OM&EE Deam)| 22 8,000,0002 8,000 5,000 3,000
SHE - BHAAIA W& AbEY 290,220 249,788 40,432
SHE - i AIE FHHl £ RU22(E) 94,272 53,840 40,432
401 AIEHIZL 2T 90,972 50,540 40,432
01 Al& | 90,000 50,000 40,000

OMYH SOHEHIZ AL (L=100m)

40,000,000 * 14l 40,000 0 40,000
03 Al&Z 2 THHI 972 540 432
OAl &2 Y| 40,000,0008! * 1.08% 432 0 432
Wegs (29 24D 225,035 0 225,035
BN E 225,085 0 225,035
BHE 2 DI E 225,035 0 225,035
802 Btet 3 JIE 225,035 0 225,035
01 2DEXZoE3 225,035 0 225,035
ONASH FHUALY 225,085 0 225,035
(@FS)-"FSEl 225,034,8252 225,035 0 225,035




> A
M £ 0o & A G M A
20148 £Z 13 LetsH A ~ AF
e 2 SN BEHPE
HM: ANSUAY (ECT ASD)

Sl D= EEH-E)
AR -2 - ZH-O(EA) - MPAY - BES 0l &k o J1 & o Hlms2
SEHE A= 278,549 237,542 41,007
HE2AIH(EL T HEDL) 82,074 41,067 41,007

Jl2&dl 82,074 41,067 41,007
Jl=dl 82,074 41,067 41,007
202 044l 14,040 10,800 3,240

01 = LH o4 1l 14,040 10,800 3,240
OJI&Z 20,0003 » 13% » 90 * 60% 14,040 10,800 3,240
401 AIEHI L 201 14,850 0 14,850
01 A& Bl 14,850 0 14,850
OWEI & M & & X 14,850 0 14,850
OTHEI & (H:1800) 231,000& * 100H 2,310 0 2,310
OTHEI & (H:1090) 209,000& = 60MH 12,540 0 12,540

405 Xt &FF SH 22,917 0 22,917
01 AL EZF S 22,917 0 22,917
OAMS A EZEH 22,917 0 22,917
OXMM(EE) 660,000& » 5= 3,300 0 3,300

O (ELR) 200,000 * 24= 4,800 0 4,800

Ol &I (EY) 455,400 = 504 2,277 0 2,277
O™ R (EEYA) 330,000& = 244 7,920 0 7,920

O X M4 198,000& * 1504 2,970 0 2,970
OMEME 1,650,000& * 1JH4 1,650 0 1,650




